(RN EHREFIDEZE]
r—AQ®
sosLRBPTDERE#R : 75,000
sen]IRBEORER 1 13,680 (D13FEE)

(RER)  (EEEEDA)
75,000 - 25,0003 = 50,0003 ﬂ
ERHRBCHNET m =0

(Z=8BhR) ﬂ‘ 72 Y
n K

N § E Bp&31,320Mx1hZiasNEd.

\J/
2% — 5 \"
Shibuya City s #
;<917998F:} (ZHh> TR ERY) [ ?>=L

45,000/ (_LiREE) — 13,680 (REMEBEDEER) = 31,320

- RN F A &BEE
50,000 —-31,320M =18,680M

—RA®@
soslLIRBFIDRERL 1 75,000
o IRBERIOFRER : 57,500 (D21BEE)

(RBR)  (EHEB)
75,000/ - 25,000/ = 50,0003 pﬂ
SR BN(CIANE T, nA

56760010 - RER)
45,000 (trraE) < 57,500 (ReHRBEDREH)
RARBEORERKLDZ Vs, 25,000HDEFBIRDHE.

- RASHYISFI HE &R
50,000MH



